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(L)Full Version 2017 Exam 600-212 Dumps From Lead2pass Cover All New
00-212 New Questions (31-40)

2017 February Cisco Official New Released 600-212 Dumps in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed! |
have already passed Cisco 600-212 certification exam today! Scored 989/1000 in Australia. SO MANY new added exam questions
which made me headache?.. Anyway, | finally passed 600-212 exam with the help of Lead2pass! Following questions and answers
are al new published by Cisco Official Exam Center: http://www.lead2pass.com/600-212.html QUESTION 31 Which two options
are valid Diameter command messages that can be seen on the 3GPP Cx interface? (Choosetwo.) A. RARB. AARC. MAR
D. PLRE. SAAF. CCAAnswer: CE QUESTION 32 Which option is the value of the AVP Auth-Application-1D for the Gy
interfface? A. 17B. 4C. 38D. 13Answer: B QUESTION 33 Refer to the exhibit. Which two options best describe this CDR?

(Choosetwo.) | cbr ELEMENTS FOLLOW
recoxrdType SGWRECORD
servedIMSI 123012345612345
sgwAddress 172.16.1.5
chargingID 288951821
servingNodeAddress 172.16.1.6
servingNodeType MME
pgwhAddressUsed 172.16.1.7
accessPointNameNI cisco
pdnType IPV4e
servedPDPPDNAddress 10.1.1.100
dynamichAddressFlag TRUE
recordOpeningTime 140127183053+0400
duration 137
causeForRecClosing Volume Limit
rATType eUTRAN
MSTimeZone +04:00
recordSequenceNumber 14
apnSelectionMode MS or Network Provided and

Subscription Verified

servedMSISDN 1234567859123
chargingCharacteristics Normal
chargingCharSelMode Serving Node Supplied
servingNode PLMN-Id 123, 03
PGWPLMNIdentifier 123, 03
astartTime \/ j x ,:'. ni J/ - ; 8 ‘:?E—lz}i??—;fitﬂi?\‘d '8 :rf |
poNConnectiymfol/ Y YV . | %o Cl L] 28085080100 . '/ | |

A. The CDR was generated for IMSI +91-123012345612345 B. The CDR was generated for an M S that belongs to the "cisco”
APN. C. The CDR was generated because the volume limit was reached. D. The CDR was generated for the home subscriber. E.

The CDR was generated due to RAT Type change to EUTRAN Answer: BC QUESTION 34 Which description of TACACS+
administrator authentication and authorization on the Cisco ASR 5000 istrue? A.  The Cisco ASR 5000 uses a privilege-level
attribute value pair to restrict users to command sets that correspond to their assigned administrativerole. B.  The Cisco ASR 5000
uses a privilege-level information element to restrict users to command sets that correspond to their assigned administrative role. C.
The Cisco ASR 5000 uses an administrator-level attribute value pair to restrict users to command sets that correspond to their
assigned administrativerole. D.  The Cisco ASR 5000 uses an administrator-level information element to restrict users to command
sets that correspond to their assigned administrative role. Answer: A QUESTION 35 As per the 3GPP, which value of the AVP
Result-Code is sent by the PCRF to indicate that the subscriber profileis not availableinits SPR? A. 2001 B. 5002 C. 4011 D.

5030 Answer: D QUESTION 36 Which two IEs are ignored by the L TE domain when the EPS QoS parameter is mapped to the
R99 QoS parameter? (Choosetwo.) A.  pre-emption capability B. ARP priority C. MBR of PDP context associated with the
background traffic classD. MBR of PDP context associated with the interactive traffic classE.  pre-emption vulnerability
Answer: AE QUESTION 37 Which two methods are used for Lawful Intercept provisioning? (Choosetwo.) A.  Stake out
provisioning B. Camp-on provisioning provisioning C. Active call provisioning D. Surveillance provisioning E.  Circuit tap
provisioning Answer: BC QUESTION 38 Which interface is used to transfer Interception Related Information to the
Delivery/Mediation Function? A. X2B. X1C. X3D. X1 1Answer: A QUESTION 39 A subscriber is moving fromLTE to
GERAN/UTRAN and the SGSN is Release 7 3GPP. Which two statements about this situation are true? (Choosetwo.) A. The
SGW has a GTPv2 tunnel towards SGSN B. The PGW hasa GTPv2 tunnel towards SGSN C. The PGW has a GTPv1 tunnel on
the S8 interface toward the SGW. D. The PGW has a GTPv2 tunnel on the S8 interface toward the SGW. Answer: AD
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QUESTION 40 Which configuration command enables the Cisco ASR 5000 to hold onto CDRs that are duplicates while waiting for
the primary CGF to come up? A. GTPP duplicate-hold-timeB. GTPP dictionary C. GTPP dead-interval D. GTPP default
Answer: A Lead2pass 600-212 PDF dumpsis perfect! Totally! Thanks so much! 600-212 new questions on Google Drive:
https://drive.google.com/open?id=0B3Syig5i8gpDbC03MjY 5L WINa3c 2017 Cisco 600-212 exam dumps (All 75 Q& As) from

L ead?pass:. http://www.lead2pass.com/600-212.html [100% Exam Pass Guaranteed]
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